N ol (d

T M= A Lt 04 (21 74/ k)
A 92,602 | 270,619 | 137,705 | 132,914 | 15,455.11
HWeg1s 4,706 14,203 7,053 7,150 | 28,985.71
Le2.38| 5,319 15,075 7,511 7,564 | 23,928.57
e 45 7,328 22,890 11,495 11,395 | 28,974.68
Hl & 1S 5,814 17,211 8,856 8,355 | 24,587.14
Hl A2 3&| 6,110 17,232 8,801 8,431 35,167.35
H| A4S 4,255 12,082 6,079 6,003 | 30,979.49
H{&H5S 3,938 11,307 5,829 5,478 | 41,877.78
H[ & 6S 3,571 10,579 5,252 5,327 | 37,782.14
H| & 7S 6,928 18,706 9,794 8,912 7,032.33
g2l 1s 4,422 12,944 6,585 6,359 | 34,063.16
He| 2& 3,580 10,475 5,265 5,210 | 45,543.48
He| 3s 6,642 19,372 9,943 9,429 | 29,351.52
el 43 7,988 22,863 11,485 11,378 | 32,201.41
He| 55 3,648 10,832 5,527 5,305 | 17,757.38
He| 63 4,526 13,671 7,199 6,472 | 15,023.08
AE0|=S 8,824 26,914 13,729 13,185 4,023.02
oS 5,003 14,263 7,302 6,961 23,004.84

Mt =oll= 2=l Mt H 2




